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Note: In questions 1 to 20, a question is followed by data in the form of two
statements labelled as (I) and (II). You must decide whether the data given
in the statements are sufficient to answer the questions. Using the data make
an appropriate choice from (1) to (4) as per the following gumdelines.

(a) Mark choice (1) if the statement (I) alone 1s sufficient to answer the
question, but (II) does not answer the question.

(b) Mark choice (2) if the statement (II) alone 1s sufficient to answer the
question, but (I) does not answer the question.

(c) Mark choice (3) if both the statements (I) and (IT) are sufficient to answer

the question. but neither statement alone is sufficient.
{d) Mark choice (4) if both the statements (I) and (II) together are not
sufficient to answer the question, and additional data is required.
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What 1s the third term of that geometric progression?
e DE (3G TIEY ¢ D0 E?
(I) The fifth term of that geometric progression s 32.
&3 (D (3G T 0069 D0 32,

(II) Product of the first five terms of that geometric progression is 1024.

&3 1D 3B ' INAE DANT© OO 1024,

Options :
1. % 1
2.9¥ 2

3.# 3
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OB 0F DT°§ed



What 1s the value of sin 87

sin @ )X )OS ?

Ul =

() cosb =

(II) tan 6 1s negative

tan 6 220€9°€5250

Options :
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What 1s the value of x?
X a)@0o) o)OE8?

M x+y=24
) x*+y?=2%

Options:
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Ish>a?
b > a @) ?

(I) x+ 3isa factor of x® — 272,
x+3038 x6— 27" BNE) 2.8 FEF050.
(IT) x — 2 is a factor of x2 — 4a?.

x? — 4a® Q30E), 2.8 OT050 x — 2.

Options :
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What is the angle subtended by the sector at the centre of the circle?
€3 09969 B0[0 94 323505350 DO §EI0 OEH?

(I) Perimeter of the sector 1s 16 cm.
&3 |@3235065850 DO 16000,
(IT) Arc length of the sector is 10 cm.

&3 |@235085) T O P56 10 0.0,

Options :
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What is the median of the integers in set S consisting of six integers?

I S SO €38 T DE5HBO J0eh?

(I) Range of the set is 40.
&3 o3 o §o) 40.
(I) Arithmetic mean of the mtegers in S 15 15.
§ SR SFTOTO 08G90 15.
Options :
1. % 1
2. % 2

3. 3

4.4 4
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Isx+y>0?

x+y >0 ©x)eNO?
(I) 2logigx+2logi0y =10
(II) Iagyx =0

Options :



4. % 4
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Is x a perfect square of an integer?

1 @90 28 5P T050 TBNE) D0sy*Q HG0 96)e0T?

(I) x leaves remainder 2 when divided by 4.
x &0 43 2PR0DSDCD 260 FN0M YN0,
(II) x leaves remaimder | when divided by 4.

x &0 43 PR 13201 5006,

Options :
1.9 1
2. % 2
3.% 3

4. % 4
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If a, b, c are real numbers, are the roots of the quadratic equation

ax*+bx +c¢=0(a#0) imaginary?

a,b,c ©) TPn6d 0PN ONNYCR), ax? +bx +c=0(a #0) PPN

§€) ¢ 0Q;EX?

M) a+c>0
(II) a.c<0

Options :
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Data Sufficiency
OB 0F DO°§ed

If A, B are two sets such that n(4 U B) = 75, then what is the number of elements in
the set 4 N B? (Here n(S) denotes the number of elements in the set S)

A,B &) BO O n(4UB) =75 @NSIE®, AnB S
JTOFO S0 (@86 n(S5) OTO IS § SR FOTE HOPLH
ErE00.)

@ n(4) =60

(II) n(B) =150

Options:
1. %1

2. % 2
3.4 3

4. % 4
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What 1s the average of the real numbersa +7,b — 3,c + 14, d - 5?
a+7,b-3,c+14,d - 500 Ve JOPONIEN 20H?

M) a—b+c-d=0
() a+b+c+d=63

Options :
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What 15 the ratio of the areas of a circle and a square?
2.8 H980. 2,8 TIAB[N0 © TG FTEPIO NS 0O ?

(I) The radms of the circle 1s 4 cm.
€3 3980 ANE), FSIY0 4 0.0,
(II) The circle circumscribes the square.

DGR, & S9B0 030 TNOA.

Options :
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What 1s the rate of simple interest?

2PEHG TG0 5 TeD d0oes?

(I) Principal 1s Rs.1000.
e G, 1000.

(IT) Amount in 3 years Rs.1195.
30056100 e9ah; FNeso B, 1195.

Options :
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Data Sufficiency
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What 1s the profit/loss percent earned/incurred by selling an article for Rs.24000?
G, 24000 ©F) 2,8 D)o 02030 IO OO 7250 B 510 JOeh?

(I) The difference between the cost price and the selling price of the
article 1s Rs.9600.

&3 53A059) 969280 T, TSRO © 25¢50 E. 9600.

(IT) The ratio of the selling price to the cost price of the article is 5:3.

&3 9A05) 550 T %0, §3) S §o tfer A 5:3.

Options :
1. % 1
2.¥ 2

3. 3
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If the persons M, N, D, P and K are arranged in the decreasing order of their
garnings, then who is the last but one among them?

M,N,D,P 005N K @ 550 70 e0edrd 020000 @s0:re
5508 G008, POS D30 0D VOB 258 o387

(I) M earns more than P who earns less than K.
K §09) €650) 37 e3Q0T P 505) M 30 T 90T,
(II) N earns more than M and P but less than only D.
D 5c0) 50)0) @0 M DO P © 8d) N 280}
00N,

Options:
1. % 1
2. % 2

3. 3

4.4 4
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How many sons does the person P have?

258 P 50 0ed D0 §aIrthen §?

(I) Sand T are brothers of M.
M50 SO0 Ten .

(IT) The mother of T is P and P has only one daughter.

T 330%) € P sHOa P& 28 2.8 §resdd $e¢h.

Options :
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Among six persons 4, B, C, D, E,F who 1s the tallest person?
A,B,C,D,E,F &% 35HE O D35 965065 Sresio?

(I) A 1s shorter than only two persons. E 1s taller than F and shorter than

C. C1s shorter than 4 and B 1s shorter than D.

3900 AAW 35800 §3) Sr(edad A FPET. € §5)
T HOOM F §3) ST E s ch. ASS) C
FETE HO0W D §5) B rEared.

(II) C 1s taller than only two persons. B 1s taller than 4 and E 1s taller than

F only.

800 FOB 35500 ) SP(ehadd € SPeH10. A §od) Srchii0
B 2000 F 803) &rcsiio E.

Options :
1.9 1
2. % 2
3. % 3

4. % 4
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£ (x+y+2)

What 1s the value o =4
x=txy+y

(x+y+z)?
x2+xy+y?

Q38 20N )OED ?

(I) x:y=3:4
(II) y:z=3:4

Options :

Question Number : 19 Question Id : 7856742932 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Five persons 4, B, C, D and E are sitting along a circular table facing the centre.
Who s sitting to the immediate left of D ?

SO(TSNPOTP 2,8 9B 2O THEY DDA 83550en
4,B,C,D HO0N E 0 §rF Q) &) (. D §) I 00% 8D Fa)dd
S0, T,

(I) C1ssitting second to the left of A. B and D are immediate neighbours

of each others.

A5 D39 T3y DOE TS06 € 878 )T) 9. B OO
DeX (D8} 1081 S0,

(II) D is sitting to the immediate left of B. E 1s not an immediate neighbour

of D and B.

B ) Q0B 30080 5t )80 D. D H005 BOR
ITI0ON OR SIS E.

Options :
1. % 1

2.8 2

3.3

4. % 4
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Data Sufficiency
OB 0F DO°§ed

How 1s A related to B ?
B & A OB 0B $ON &) (7

(I) C 1s a brother of B.

B 0308}, 2.8 S C.
(II) A 1s a daughter of C.

C 0308}, 2.8 e A,

Options :
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Problem Solving

QDo A FEN -

(a) Series L_%E‘&)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

DBCE : QOPR :: JLKI:

(1) WXYV
(2) WYVX
3) WYXV

)
4) YWXU

Options :
1. % 1
2. % 2
3.¥3

4, % 4

Question Number : 22 Question Id : 7856742935 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD EEN-TP R
(a) Series L_%EEDQZD

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HBK ) 1H9) 0 (D TS’ DO 2SO (98,070
B> @070 HO DOPEO) DTN 0. 28 BSS’
EAN0DS ©E60 HFE BSST 3070 ) S0EN0D. €
o) ST HHA0D POD TS eSS
JPO0V0G.

RING: 57 :: PUSH :

(1) 85
(2) 80
(3) 75
(4) 70
Options:
1.1
2. % 2
3.% 3

4. % 4
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Problem Solving

QoD -

(a) Series Lfﬁmm}

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DO (HS TS’ Do Bebe) (98,07
S 8070 DO DOPEO) DTN 0. 2.8 B’
50D ©E60 HFE BSS T 30w ) S0EN0D. €8
O ST HHA0D TIOD TS T3S
SUReloin]e]e}

624:48::736:

(1) 126
2) 174
(3) 182
(4) 198

Options :
1.9 1
2. % 2
3.% 3

4, % 4
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Problem Solving
QoD -
(a) Series Lfﬁmm}

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DO (HS TS’ Do Bebe) (98,07
S 8070 DO DOPEO) DTN 0. 2.8 B’
50D ©E60 HFE BSS T 30w ) S0EN0D. €8
O ST HHA0D TIOD TS T3S
SUReloin]e]e}

2°3% 342 2 577

(1) 18
2) 27
3) 16
4 12
Options :
1. % 1
2. % 2
3.3

4. % 4
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Problem Solving

QoD -

(a) Series Lfﬁmm}

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DO (HS TS’ Do Bebe) (98,07
S 8070 DO DOPEO) DTN 0. 2.8 B’
50D ©E60 HFE BSS T 30w ) S0EN0D. €8
O ST HHA0D TIOD TS T3S
SUReloin]e]e}

BC(0503) : DE(0706) :: GH(1009) : IM( )

(1) 1312
(2) 1510
3) 1512
(4) 1310

Options :
1. %1
2. % 2
3.3

4. % 4
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Problem Solving

QoD -

(a) Series Lfﬁmm}

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DO (HS TS’ Do Bebe) (98,07
S 8070 DO DOPEO) DTN 0. 2.8 B’
50D ©E60 HFE BSS T 30w ) S0EN0D. €8
O ST HHA0D TIOD TS T3S
SUReloin]e]e}

ENGLISH : 130 :: SANSKRIT :
(1) 125
() 137
(3) 148
) 151

Options :
1. % 1
2. % 2

3.# 3

4.4 4
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Problem Solving
QoD -
(a) Series Lfﬁmm}

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DO (HS TS’ Do Bebe) (98,07
S 8070 DO DOPEO) DTN 0. 2.8 B’
50D ©E60 HFE BSS T 30w ) S0EN0D. €8
O ST HHA0D TIOD TS T3S

SUReloin]e]e}
4DH : 12LP :: : I4NR
() 13D%)
(2) 14ER
(3) 6F]
(4) 6GI
Options :
1. % 1
2. % 2
3.3

4. % 4
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Problem Solving
QoA FEN -
(a) Series L_%Em@i}

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HBK 110 1H910 (S IS’ DO 240 (95,07
S @070 DO DOPEO) DTN 0. 28 BSS’
50NN ©F.60 NFE BSS T are30TrO) ) S0EN0D. €
O8Td) BT HHA0D OO TS T3S
J*B0V0B.

144 :20736 : 288 :

(1) 82941
(2) 82942
(3) 82943
(4) 82944

Options :

1. % 1

2. % 2

3.% 3

4.4 4
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Problem Solving

QoD -

(a) Series Lfﬁmm}

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DO (HS TS’ Do Bebe) (98,07
S 8070 DO DOPEO) DTN 0. 2.8 B’
50D ©E60 HFE BSS T 30w ) S0EN0D. €8
O ST HHA0D TIOD TS T3S
SUReloin]e]e}

RSab : STed :: : UVxy

(1) TUww
(2) VWwx
(3) VWxz
(4) WXya

Options:
1.41
2. % 2
3. % 3

4, % 4
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Problem Solving

QoD -

(a) Series Lfﬁmm}

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DO (HS TS’ Do Bebe) (98,07
S 8070 DO DOPEO) DTN 0. 2.8 B’
50D ©E60 HFE BSS T 30w ) S0EN0D. €8
O ST HHA0D TIOD TS T3S
SUReloin]e]e}

28T GG BTe:

(1) J
(2) K
(T
4) M

Options :
1. % 1
2. % 2
3.3

4. % 4
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -
(a) Series L_% AV (S

Note : In questions numbered 31 to 35 pick the odd thing out

B8 @ 31 OB 35 8% Ko (DN OS HOFOIO

H00THAW.
15,35 145323, 437, 899.1763
(1) 143
(2) 323
(3) 437
(4) 899
Options :
1. % 1
2. % 2
3.¥3



Question Number : 32 Question Id : 7856742945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -
(a) Series L_% £20CN

Note : In questions numbered 31 to 35 pick the odd thing out
B8 @ 31 HOA 35 3% HO (D) OS HOFOIO
HO00THHW.

% <8x-p 15 a* =12%43h, —18x477
2 —24x+ 143, x> —36x 3323 x? — 60x + 899,
xZ —84x + 1763

(1) x*—84x +1763
(2) x*—36x + 323
(3) x*—24x+143
(4) x*—18x+77

Options :



Question Number : 33 Question Id : 7856742946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo) §EN-2TP

(a) Series L_% £

Note : In questions numbered 31 to 35 pick the odd thing out

B8 @ 31 HOA 35 3% HO (D) OS HOFOIO
HO00THHW.

125, 343, 729, 1331, 2197, 4913, 6859

(1) 4913
(2) 1331
(3) 729
4) 125

Options :

1. % 1

Question Number : 34 Question Id : 7856742947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Problem Solving
Qo) §EN -
(a) Series L_% AV (DY)
Note : In questions numbered 31 to 35 pick the odd thing out

He0dE : 31 OB 35 S6H H0 (HIOS HOFOIO
00TVHW.

Crowd. Union, Swarm. Team. Flock. Throng

(1) Crowd
(2) Flock
(3) Team
(4) Swarm

Options :

Question Number : 35 Question Id : 7856742948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

Qo) §EN -

(a) Series L_% A (Y

Note : In questions numbered 31 to 35 pick the odd thing out

B8 & 31 OB 35 8% HO (D) 0S HOFOO
HO0THHW.

11,73,79, 83,87, 89,97

1) 73
2) 83
3) 87
4) 97

Options :

Sub-Section Number : 4
Sub-Section Id : 785674326
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 36 Question Id : 7856742949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

663,5{],40,333,28: ,223,20
3 6 ) 9
(1) 27
(2] 26
(31 25
(4) 24
Options:
1. % 1
2. % 2
3.3
4. % 4

Question Number : 37 Question Id : 7856742950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

$00, 339~ 2001422902 96>
3 7 11 13

67 13
(1) g
£g 14
63 i
(3) 5975
. 13
(4) P2y
Options :
1. % 1
2.¥ 2
3.% 3
4. % 4

Question Number : 38 Question Id : 7856742951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

0.4, 18. 48. 100, . 294, 448
(1) 160
2) 180
(3) 210
(4) 214
Options :
1. % 1
2.¥ 2
3. % 3
4, w4

Question Number : 39 Question Id : 7856742952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

1,5, 14, 30, .91, 140

(1) 45
(2) 55
(3) 65
4) 75

Options :
1. % 1
2.9 2
3.% 3

4. % 4

Question Number : 40 Question Id : 7856742953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

1,6,20.56,144, 832 1020
(1) 352
(2) 496
(3) 532
4) 768
Options :
1.4 1
2. % 2
3. % 3
4. % 4

Question Number : 41 Question Id : 7856742954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

1 2 l1 ; 5 31
3! 6! f 6! L ——
1
@ 1
2 1
@ _,!
3 1
G 1
4 1
@ _,1
Options :
1.91
2. % 2
3. % 3
4, w4

Question Number : 42 Question Id : 7856742955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

23,20,14,5, B0

Options:
1.9 1
2. % 2
3. % 3

4, % 4

Question Number : 43 Question Id : 7856742956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

41 81 q4 172 223 214
2EET e

Options :
1.9 1
2. % 2
3. % 3

4, % 4

Question Number : 44 Question Id : 7856742957 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

13,31, 57, 133, 307

(1) 183
(2) 227
(3) 251
4) 279

Options :
1.9 1
2. % 2
3. % 3

4, w4

Question Number : 45 Question Id : 7856742958 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

1.4, 12,32, 80, 192,

(1) 264
(2) 324
(3) 448
(4) 542

Options :
1. % 1

2. % 2

3.3

4. % 4

Sub-Section Number : 5
Sub-Section Id : 785674327
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 7856742959 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 48)
Problem Solving

QDN SEN-

(b) Data Analysis
ST 0% BN

A candidate is expected to calculate the missing value if it 1s required to answer the

question. On the basis of the given nformation answer the questions from 46 to 48.

& 800 9 LB AP d0 eI, 2,8 €92530 2,8 |04) 50 B2
DT 30) TR0 SO FPPOD 2007 ) SDINID aJ00TE))
08000,

& QP00 eSO (234 00 46 AHOE 48 5050 DeITPTTREN VS0,

State U%(00 M State 000 N
Year Number | % of candidates | Number - olfgagdldatcs
009 |appeared | qualified appeared E’E?')lﬁ;’“f"o A%
%0 FRBOT | FodS  |FuBrd | 5 {j‘;’
0009; | oide TS0 | Hops @E}f; #5
S = e e300
2018 320 60 640 53
2019 420 - 500 -
2020 350 50 - 63
2021 - 40 550 40
2022 - 53 400 29

Sub questions

Question Number : 46 Question Id : 7856742960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN

If the average number of qualified candidates from State M 1n 2018, 2019. 2020 15 180,
what 15 the number of qualified candidates from State M m 20197

07220 M <008 2018, 2019, 2020 ©65" e9868 PO €9235De) i 180
90N, 2019 & TR0 M & eie FOOR 92558© oS

(1) 173
(2) 169
3) 177
(4) 167

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 47 Question Id : 7856742961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Do EEN-

(b) Data Analysis
S&0% DINED



If the respective ratio between the number of qualified candidates from State N m 2018
and 2019 1s 11 : 7, what 1s the number of qualified candidates from State N i 20197

0720 N 00 2018 ¢ e98ed FOO 923586 0550 sHO0HY 2019 &S
00 ©250O D0 10 AN 11: 7 ©ONB, T%0 N DG
2019 &’ e8P0 92350 S0P DOE?

(1) 196
(2) 210
(3) 252
(4) 24

Options:
1. % 1
2. % 2

3. 3

4.4 4

Question Number : 48 Question Id : 7856742962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDN EEN-T D

(b) Data Analysis
S0 BN



The number of appeared candidates from State M mcreased by 100% from 2021 to
2022. If the total number of qualified candidates from State M in 2021 and 2022
together 1s 403, what 1s the number of appeared candidates from State M in 2021?

2021 DOG 2022 S8 0700 M HOB F2T @2zther oS 1003°60
6A0A. 2021 HOAN 2022 O T30 M 0B @ FPAODNS IS0
255® H0P; 405, ONS, TR0 M D0 2021 & F3TS @5He
D0 )0E?

(1) 360
(2) 330
(3)
(4)

Options :

Sub-Section Number : 6
Sub-Section Id : 785674328
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856742963 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)



Problem Solving

QoD EEN-T

(b) Data Analysis
ST 0% BN

The given Pie-chart shows the scoring / mun pattern of a cricket team in an nnings

score of 540 runs. Based on the data shown m the chart. answer the questions 49 to
51.

335283 9 QB0 .8 1§36 2D 2.8 aN)0of) S TS HEIHO
N0 540 § H020A0D BB TFYBR0O. & ALTTE0 STTEOTT 49
0B 51 505 1) (D) OF) TP}

o Extras
05 Sixers
ingles 96°

wepen Fours 120°

0s 72°

sréown Threes 18°
= oy Singles 96° = Dot Twos 72° » dorcoen Threes 18°

mpenen Fours 1207« Ry Sixers 36"« 5y pew Bxtras

Sub questions

Question Number : 49 Question Id : 7856742964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN

The number of extra runs mcluded 1n the score 1s
3 85 S DT (EF 0 T ST SO Do

(1) 24
(2) 26
3) 27
4) 36

Options:

4. % 4

Question Number : 50 Question Id : 7856742965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QoA EEN- T

(b) Data Analysis
S0 BN



How many sixers are hit in the innings?
e3 20N &S FPO0DS VBT HOPE JOeh ?

(1) 54
2) 36
3) 18
@) 9

Options :

4.4 4

Question Number : 51 Question Id : 7856742966 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN



The number of twos in the innings 1s
&3 90N S D) DO SZPE e0I°L0N?
(1) 54
(2) 64
(3) 72
(4) 108

Options :

1.1

Sub-Section Number : 7
Sub-Section Id : 785674329
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856742967 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (52 to 55)

Problem Solving

QDN EEN-T D

(b) Data Analysis
S 0% DBNED



In a school of 250 students, 78 play cricket, 83 play hockey. 97 play football. 41 play
both cricket and hockey. 53 play hockey and football. 37 play football and cricket and

27 play all the 3 games. Based on this information answer the questions from 52 to
75

250 000 Dersden (o) 2.8 3870 ¢, 78 00 183 5, 83 000 78 D),
97 0O HE O &, 41 H0O |83 HOAM & J, 53 0O I8
DO Y 2O &, 37 H0O HE 2O DO (83 & HOOW 27
DO &2 DT SO STAW.

& DTG0 SO0 52 HOEG 55 SO (10 (33%) OF) NSF TR Oai))].

Sub questions

Question Number : 52 Question Id : 7856742968 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QoD LEN-TPD

(b) Data Analysis
S0 BN

The number of students who play a single game 1s
2,8 @88 8T DO HOPS

(1) 77
(2) 87
(3) 97
(4) 107



Options :

Question Number : 53 Question Id : 7856742969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDN AEEN- T
(b) Data Analysis
ST 0F BN

The number of students who do not play any of the three games 1s
S0°CR) @O D2.8) TR B3 DTS HOYS

(1) 108
2) 102
3) 96
4) 90

Options :



Question Number : 54 Question Id : 7856742970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving
QoD EEN-T D

(b) Data Analysis
S&0% DINED

The number of students who play exactly two games is
DO )BOT DO SEOD @B ;DO oY

(1) 75
2) 67
(3) 63
4) 50

Options :

4.¥ 4

Question Number : 55 Question Id : 7856742971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
DD SEN-

(b) Data Analysis
ST0% DINED

The number of students who play hockey or football or both 13
58 B HE & B 00308 eB AT DO HoRs

(1) 83
2) 120
3) 127
(4) 180

Options :

Sub-Section Number : 8
Sub-Section Id : 785674330
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856742972 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (56 to 60)



Problem Solving
QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN

The letters of English alphabet taken in order are arranged around a circle in clockwise
direction and are coded as per the following guidelines:

1. A vowel 1s coded as the second vowel from it taken i the anti-clockwise
direction.
2. A consonant 15 coded as the fifth consonant from 1t taken in the anti-clockwise

direction.
3. For decoding the reverse process 1s to be followed.
Using the coding and decoding process answer the questions from 36 to 60.

S0 SSPOSTR 98 TOD 28 B0 3 N3OS 9:90)0, OO

T30 1806 59 (5850 §diheom §& DRO.
1. 28 @0t 1) T8 95056 ) V0B et )% §6 Towre.
2. 28T TP @3NS D) D8 $Te%) §& Dowrd).
3. & 58 TONEAE &1 5008 IS IR @B0we).

& QP E0 SO0 56 :DOG 60 BV (10 (239) OF ITFTTIO0].

Sub questions

Question Number : 56 Question Id : 7856742973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN

What is the code for ICET?
ICET %0 §G 0O?

(1) AXUN
2) EHUO
(3) AHUN
(4) AWUN

Options :

1.8 1

Question Number : 57 Question Id : 7856742974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDo §EN-T

(¢) Coding and Decoding Problems

500, AR JsNOseN



The string of letters that 1s coded as FAIL 1s

FAIL i §& B0H223 @8 070 §rdd)
(1) LIRU

(2) YOIL
(3) LIUR
(4) YOFI

Options:

Question Number : 58 Question Id : 7856742975 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDo §EN-T

(¢) Coding and Decoding Problems

§A0R, AEA0R HsND5eN



NEIZB i1s a code of the word

NEIZB @30 o d°D8 §°592

(1) TOUGH
(2) TONES
(3) TOURS
(4) TOUCH

Options :

1.1

Question Number : 59 Question Id : 7856742976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDN FEN-TS

(¢) Coding and Decoding Problems

§A0R, 5B00 SO



The string of letters that is coded as LOVELY 1is
LOVELY ™ §& D0H22AS @8 070 $°8)

(1) RAOBRF
(2) RABORF
(3) QABOUF
(4) RAOUFS

Options :

Question Number : 60 Question Id : 7856742977 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN



DOING WELL i1s coded in this code language as
& 56 27 & DOING WELL &: D0 86 T 0.

(1) YIATM RIFF
(2) YEASM QIFF
(3) XIATN QOFF
(4) XEATM QUFF

Options :

1. 8 1

2. % 2

3.# 3

4. v 4

Sub-Section Number : 9
Sub-Section Id : 785674331
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 61 Question Id : 7856742978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDo §EN-T D

(¢) Coding and Decoding Problems

§A00, A0 HsHOseN



Using the coding and decoding process answer the questions from 61 to 65.

QDAY PG00 SO0 61 HOG 65 SO0 e (F)ON
NNV ARNINW

If PLACEMENT is coded in a language as MIXZBJIBKQ. then the word that is
coded as JLRPB 13

2,8 2765 PLACEMENT ¢ MIXZBIBKQ 1T §6 T30, ILRPB T §6
DDA D0

(1) MOULD
(2) MOUSE
(3) MONEY
(4) MOPED

Options :

Question Number : 62 Question Id : 7856742979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN

Using the coding and decoding process answer the questions from 61 to 65.

QISABN  NIFFE0 IO 61 HOG 65 HOH e () O%
NNARNINW

If HOCKEY 1s coded as FMAICW. then the code for PENALTY 1s
HOCKEY & FMAICW 1P §6 3. PENALTY 3308 86 0¢0

(1) NDMZKSW
NCLYJRW
MBKXIQV
MCLYJRV

—— —
L% -2
S p— o

Options :
1. %1
2.9 2
3. % 3

4. % 4

Question Number : 63 Question Id : 7856742980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Problem Solving

Qo LEN-TP

(¢) Coding and Decoding Problems

300, AR HsDsED

Using the coding and decoding process answer the questions from 61 to 63,

QAN AP0 SFEomr 61 HOG 65 SO e (HFO%
NNARNINWI

In a certain code the word CALENDER 1s coded as MCDQDBMEF. then m the
same code the word EQUATION is coded as

2,558 §6 & CALENDER 7 7)) MCDQDBME 1 §&
DOHRABINE , &7 §& S EQUATION G3ng) §6

(1) UJPODPTZ
(2) UJPOFRVB
(3) SHNMFRVB
(4) SHNMDPTZ

Options :

1. 8 1

2. % 2
3.3

4. % 4

Question Number : 64 Question Id : 7856742981 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDo §EN-T D

(¢) Coding and Decoding Problems

500, AR HsND5eN

Using the coding and decoding process answer the questions from 61 to 65.

QBN Nrrdo erdomr 61 HoG 65 SO e (%)%
N ARNINW

If QUESTION 15 coded as UYIWXMSR, then the word that 1s coded as RYQFIV 1s

QUESTION ¢ UYIWXMSR T §6 D 0. RYQFIV T §8 Dohayde H¢0

(1) SPACES
(2) ANSWER
(3) NUMBER
(4) TSICET

Options :
1. % 1
2. % 2
3.3

4. % 4



Question Number : 65 Question Id : 7856742982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDN FEN-TES

(¢) Coding and Decoding Problems

300, AFA0N Hs0D5eD

Using the coding and decoding process answer the questions from 61 to 65.

QISABN  NIFFE0 IO 61 HOG 65 HOH e () O%
NNARNINW

In a certain code language COMPUTER is written as RFUVQNPD. Then how 1s
MEDICINE written in the same code language ?

2,8 5% 50 27 ¢ COMPUTER & RFUVQNPD 7 |aPR00. &9:)ch) €3
H02726S MEDICINE &) o) ¢S50 86 320 2

1) EOJDEJEM

(1)
(2) MFEDIJEN
(3)
“)

EOJDJEEN
MEFDIJOE

Options :
1. % 1

2. % 2



4, % 4

Sub-Section Number : 10
Sub-Section Id : 785674332
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 7856742983 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDo) §EN - )

(d) Date. Time and Arrangement Problems
B0, DNANO, @N0E DN

If 16™ March 2023 is Thursday, the day on 24 February 2008 is

16 5370 2023 52 (XG0 @00, 24 (230 2008 o) F2?
2960 007

(1) Sunday
a0 00
(2) Monday
P00
(3) Wednesday
206 80
(4) Friday
DS 700

Options :

1.1



4. % 4

Question Number : 67 Question Id : 7856742984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo) §EN-RTPCI

(d) Date. Time and Arrangement Problems

B0, DNANO, @N0E DN

If a clock shows 15 minutes past 5 O’clock. then the angle between the hands of that
clock 1s

2,8 (BOIPG0 5 K0LE 15MFOD TIFYe0D), & HBOITE0eS D
08 HE3s 890

0

(1) 585

Options:
1. %1

2. % 2

3.



v3

4. % 4

Question Number : 68 Question Id : 7856742985 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD $EN -

(d) Date. Time and Arrangement Problems

B0, NN, eD0E DN

At which time between 8 o’clock and 9 o’clock, the hours hand and minutes hand

comncide 1s

8 )00 9 068 S FHOLID SNEN HOAN AaVATE) sV
D80T 9:00H0 AE?
(1) 8 hours 41 —min 8 (10.41 9.
11 11
(2) 8 hours 43— min 8(10.43— )
11 11
(3) 8hours 452 min 8 [0.45=>2).
11 11

4) 8 hours 47 > mi 8 (10.4729).
11 11

Options :
1. %1
2.¥ 2

3.% 3



4. % 4

Question Number : 69 Question Id : 7856742986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems
BE), DONO. @008 DD

Seetha’s father’s mother-in-law’s only daughter’s son 1s B. How is Seetha related to
B?

Qe TIE), T°) 0 @8y (fe) TS Fredd Sy B, @3¢ BS Qed §)
(10> 2r0a50

) Brother AN
) Brother-in-law ARN

) Nephew DO
) Sister NIALY

Question Number : 70 Question Id : 7856742987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDo) §EN - )

(d) Date. Time and Arrangement Problems

B0, DNANO, @N0E DN

The departure of a local train at a station 1s every 45 minutes. A person A arrives at
the station and found that the train left 5 minutes ago and the next train is at 7.45 am.

What 1s the arrival time of A at the station?

2,4 D81 DA D0 (HE 45 Q. 0% 2.8 §%S Bew 209 BKod,
2,8 558 A DT VD K TAOT, @085 5. © 860 2.8 T IP)03R.
S3ared BV 0O &AH0 7106 45 .08 @) BOR T, NS,
¢ BB VD ) A TEOTH) HSOHO J0es?

(1) 7.00am
(2)  7.05am
(3) 7.10am
4) 7.15am

o

y

[ B o |

= Th =

e & &M

L

Options :
1. % 1
2.¥ 2

3. 3

Question Number : 71 Question Id : 7856742988 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems

B0, DNANO, @NOE HNOSEN

Anil reached a meeting place 32 minutes before 10.20 am and he 15 55 minutes earlier

to Sunil who was 38 munutes late to that meeting. Then the scheduled meeting time 1s

&.1020 Q. OF 32 AWaTO MONT @O Jrad Derds
DEOHT) . N0 ASTPITRE 38 AT SONTOT DEEIR),
DAO $5) 55 TN SN0™ 9O THRT)E. @) Qe
P E DeDANO

(1) &.10.10 am
(2) &.10.15am
(3) .10.05 am

4) &.10.18 am

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 72 Question Id : 7856742989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDo) §EN - )

(d) Date. Time and Arrangement Problems

B0, DNANO, @N0E DN

6 persons 4, B, C, D, E, F sit on one side of a long table B and E are immediate
neighbours of 4. D 1s between E and F. B 1s not at the extreme places. Then the
person/persons adjacent to C'1s/are

2,8 &P Bran® 302G A, B. €. D. E. F &R escdiHd 5800 08 )0
&) . A 50 IO (8] 1984 B, E €0 &) B, E OO F ©
50 D &) . B o) DI ST B, € § (:8)0 &0T 355/ 555hen

(1) AB

Options :
1. % 1

2.9¥ 2

4, % 4

Question Number : 73 Question Id : 7856742990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDo) §EN - )

(d) Date. Time and Arrangement Problems
B3O, DNONO. 008 DD

a*b=(a+b—-1)2—-1=2(1+2)*(3%3) =

(1) 675
() 575
3) 371
@) 71

Options :

Question Number : 74 Question Id : 7856742991 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems
B0, DNANO, @NOE HNOSEN

Fora,b € R.defnea®b =2a—-3banda L b =3a + 4b, then
GR1LEBR4Y=

a,b ER, A a®b=2a—3b000N alb=3a+4b 0N,
GR®LEBRY=

Options :

1.9 1

Question Number : 75 Question Id : 7856742992 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

QDo FEN-T

(d) Date. Time and Arrangement Problems

B0, DNANO, @NOE HNOSEN

Consider the series
E5!' 6«14 < OU7? H~8LQAA2G / 1V + 9W - 3.

How many vowels are there that are immediately proceeded by a symbol?

ES!6 14 < 077 H~BLQAAG / 1V +9W — 3 (3630 30804,
FBOAID C8ed) (398709 2,8 HAD FOND 9 YN AR &) OW?

1
2

(1) 4
{Z) 2
3
(

1
3

)
4)

Options :
1. % 1
2. % 2

3.# 3

4.9 4

Mathematical Ability



SectionId :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 76 Question Id : 7856742993 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

78567444
2

Online
Mandatory
75

75

75

Yes

0

1
785674333
Yes

null

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged



1 oa
If a* = by = cz and b® = ac?, then9xy — 2xz =

1 3
a* = by = ¢z HOO b3 = ac? ©ONS,9xy — 2xz =

-2

(1)
2) 3
(3) 4
4 6

Options :

Question Number : 77 Question Id : 7856742994 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged



2 : 1
If 2" = (2™)"*, then m in terms of n is

2 . W
2m™ = (2m)? oM 1 ITOS, m=

Options :

Question Number : 78 Question Id : 7856742995 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged



In a party the ratio of gents and ladies 1s 2 : 3. If 3 gents left and 3 more ladies
joined the party, then the ratio 1s 1 : 3, then the number of ladies in the party at

the end 1s

28 DOAE TR BN OO (VO IS 2: 3. & Dok
0D SMHA HERVED JRF0D, HOOH SHHD [NeN
90T TOSYCD &8 DI 1 : 3 oSS, & DOCH DG (o

l_?g@ V0
1) 15
2) 12
(3) 20
4 18

Options :

1.9 1

2. % 2

3.% 3

4. % 4

Question Number : 79 Question Id : 7856742996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mranQged



Two numbers are 1n the ratio 3 : 5. If 25 1s added to both the numbers. then the
ratio between them becomes 2 : 3. The smallest of the two numbers 1s

BOCD HODIO DN 3 - 5: & DO DOPIOZ 25 & EO INCH
763 DA 21 3 WONSHE, & HOPLOS EJ HOPS

(1) 65
2) 75
3) 25
4) 45

Options :
1. % 1

2.9 2
3. 3

4. % 4

Question Number : 80 Question Id : 7856742997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged



V3+1 V3-1 2 2
If x=—andy =——.thenx =
vV3—-1 y V3+1 Ty

_W3n1 31 3 3
* =B Y T B @OV, X3 +y° =
(1) 14
(2) 28
(3) 42
4 32
Options :
1. % 1
2. % 2
3. % 3
4. ¥ 4

Question Number : 81 Question Id : 7856742998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged



J11+2ﬁ+ 2v3 +2v21 =

M 1+V54V11
@ 1+V5++7
B 14+V3+V7
@ 1+V3+5

Options :

1. % 1

Question Number : 82 Question Id : 7856742999 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
05 ie3es G seh



The least (positive) remainder obtained when 173° is divided by 5 is

173° 9 53 RO ©D0T 300

(1) 4
2y 3
(3) 2
4 1

Options:

1.9 1

2. % 2

3. % 3

4, % 4

Question Number : 83 Question Id : 7856743000 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08 eded fraQ ged



What 15 the least number to be added to 4259 to make 1t a multiple of 35 7

4259 HOPSH 2 EAN DOPI EONEI0 IO TN 35§ 2.8 thedzo
T 670 o0t )?

1) 16
@ 1
3
(

Question Number : 84 Question Id : 7856743001 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged



The least positive integer to be subtracted from 10000, so that remaining
number 1s exactly divisible by 7, 9. 11 1s

10000 H0D) ) $AR (389 SPTOTR) SRBDYE OO oS
7,9, 110 T A300 1P 2rN0L) 23 ?

1) 79

2) 158

(3) 298

(4 437

Options :

Question Number : 85 Question Id : 7856743002 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@0 08(e5ed mraQed



The largest 4-digit number that leaves remaimder 7 i each case when divided
by 36. 60, 96 is

36,60, 96 © T 2PNOT) ASCH 7 & 30 T AT ) Tenth @03

H0ROS DAEWIB.
(1) 8767
(2) 8647
(3) 9217
(4) 9837
Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 86 Question Id : 7856743003 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@0 08(e5ed mraQed



||:x;. oo L UL W

i
H

(4)

r—l-lr--k
| =

Options :

1.1

Question Number : 87 Question Id : 7856743004 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
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h th

t
1 ; 5 1
If = of a number is subtracted h‘mna of the same number, we get 210,

then that number is

28 K)O%DS("SE % 2710 00, &3 HogeS % 5 2P SVH
YD 210, ©DODILIONB, &8 HOPS

(1) 5040
(2) 2520
(3) 1260
4) 630

Options :

Question Number : 88 Question Id : 7856743005 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
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The difference between the largest and the smallest of the following rational
number 15

1806 988505 HOPLOES’ HOR DO EA DT 0 B0

Question Number : 89 Question Id : 7856743006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded fraQ sed



If 77 <x <123 and 45 < y < 62, then the interval in which x — y lies is

77 < x < 123 OO 45 <y < 62 OOND, x — y SOT @O0

1) (32.61)
Q) (32.78)
(3) (15.61)
@) (15.78)

Options :

Question Number : 90 Question Id : 7856743007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@0 08(e5ed mraQed



In an election contested by two candidates A and B. A got 68% of the votes
and won by 7200 votes. What is the strength of the electorate ?

28 I)ES 1RG0 e92558en A HOOH B e 3 TR A 50 68%
2,60 D)), 7200 4,8 BE & TOT . F0B0 2,60 HOPS D06?

(1) 17000
(2) 18000
(3) 19000
(4) 20000

Options :
1. % 1
2. % 2

3.# 3

4. ¥ 4

Question Number : 91 Question Id : 7856743008 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
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The population of a city ncreases constantly at the rate of 5% every year. If
the current population of the city is 8379. then the population of the city two
years back was

2.8 SHE0S BR7F (296 0I5 I50 5% 35 )0

VGO HNNEM0A. &8 G0 TBNEY, DN B2 8379 OB,
DO N0536)0°0) 8650 & B0 Brer

1) 7000

2) 7300

3) 7600

1) 7800

Options :
1. % 1

2. % 2
3.3

4. % 4

Question Number : 92 Question Id : 7856743009 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
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If the cost price of 20 articles 1s equal to selling price of 16 articles. then the

percentage of profit 15

20 SO Td) T, 16 HDHO @0 FOF QPO
0NN, €72 B0

15

20

25

30

o
-

Question Number : 93 Question Id : 7856743010 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
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By allowing a discount of 15% on the marked price of an article a dealer gets
20% profit. Then the ratio of marked price to the cost price of that article 1s

2.8 a5ar0. 2.8 9aa) G308, (5365 T 2 15% N0s)ed Bed 3¢50
O §O° 20% €727 SPOCOETCER. Ro)CR) & 3o TBNEY, (25¢3¢
JOR, §) O o e

m 1
24
@ 1
20
(3) 20
17
(4 24
17
Options:
1. % 1
2. % 2
3.% 3
4.4 4

Question Number : 94 Question Id : 7856743011 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
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In a business A mvests half as much as B and B invests thrice as much of C.
At the end of the year. If C gets Rs.52800 as hus share m the year end profit.

then A’s share in the profit. in rupees. is

A, B, C &% 35000 28 &) araroeR) (508000, C oag)
DEVDAE e O DEVDASE B 5000 B TG DEVES'
TR A 665 DEDDAT DEFS, D063 YT0T D ) e725065 C
TB0E), FEF B.52800 OB, A Th0E), arer (.0

79200

(1)
) 105600
)
)

2
3

(4

—

24600
13200

—

Options :
1.9 1
2. % 2
3.% 3

4, w4

Question Number : 95 Question Id : 7856743012 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
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, ' : : . : 3
Three persons A. B. C started a partnership busmess i which A mvested - of

the total investment of B and C: and B mvested % of the total investment of A

and C. If the total profit at the end of the year is Rs.17.5 lakhs, then the share
of the profit of C (in lakhs of rupees) is

S0 $5550e0 A, B, € e @F30D0DS 28 8018 FirdoS B
$H00H €O S0 DEPVAES' 2 5 0 TV A DEYAAT
DET, A N0 € © Ingo YIRS - & S0 InTW) B

DENDET DV, N0HBYTP0ed er2S0 17.5 ©F O Erarahen
©ONd, C BNE) Ter (. 080

(1} 3538
(2) 3623
(3) 3275
4 5.0

Options:

1. % 1

2.¥ 2

3.% 3

4. % 4

Question Number : 96 Question Id : 7856743013 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
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Two taps A. B can fill a tank i 15 min. and 20 min. respectively. while tap C
can empty it m 30 min. If all the three Taps are opened simultaneously. then
how much time (in minutes) 1t will take to fill the tank.

BOCH PEN A, B 00 2,8 $¢3 & IR 15 Qodalen HO0KN 20
AMLOS A0 {06, OO S C &3 S 30 AVTOS gre

DADHOE. ST STOMN 2.8 0 BOW, &3 S8 D0hErs HB)
HNNOHO (.0

Options :
1. %1
2.9 2
3. % 3

4. % 4

Question Number : 97 Question Id : 7856743014 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
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A cstern has 3 pipes A. B and C. The pipes A and B can fill it independently
in 4 and 5 hours respectively. while C can empty a full tank in 2 hours. If the
3 pipes A. B and C are opened at 5 am. 6 am and 7 am respectively. the time at
which the cistern will be empty 1s

2,8 S S8 A, B HO0N € &F SHrd Teren §05. Feren A
0050 B € 8 SE3 s3I 4 HOAH 5 Ko 0 1ONE,
CesS2 K0S 87 SanON), P fTePeN A, B SHOOM
C ©) SN SAODO 5, 6 HO0M 7 HOLOK BOW, o) DHOHO
$6 e G 579 e95)eh0A.

1) 6pm

(1)

(2) Tpm
(3) &pm
(

4)  9pm

Options :
1. % 1
2. % 2

3.# 3

4.4 4
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Two persons A. B start from the same pomt at 7 am and move at the rate of 5

kmph and 8 kmph respectively mn the opposite directions. Then the time at
which they will be 78 km apart 1

A HS38en A, B e 28 Do) Hod &BaHo 7 fotred
206D T 35388 HIOS SEOT K050 58.0. HOA 8 §.00.
0B (DAFEHODINB, & DHOHO HG OGS 78 ..
ErGoeS B0er’?

(1) 1lam

&b
——
o

gj(‘
—_
(i

2)  12noon

58::'..

(3) 1pm

_?—'5(“

4  2pm

Options :
1. % 1

2.8 2
3.¥3

4, % 4
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A car travels é*rd of the journey at 20 kmph, next grd of journey at 40 kmph

and the rest of the journey at 60 kmph. If 1t takes 7; hours to complete the

journey, then the length of the journey. mn kms, s

28 T8 IS0 1HOTR0S PGS H0HD KoL) 20 8.ab.
SHOS, e3¢5 [HOITEIOS 0TS 50D H0EF 40 §.80.
0BT HOOM i@ (DOIrT) (0% 60 .. Jfod
(HOIFERR00. &8 (HOSTET) 3570 ToDErd§ 7-fiotren HAB,

DOITEI0DS T Brdo E..0)

(1) 240
2) 210
(3) 180
4) 150

Options :

1.41

2. % 2

3.% 3

4, % 4
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If 15 men can prepare 40 toys in 8 days by working 9 hours a day. then the
number of days required for 12 men to prepare 60 toys working 9 hours per
day is

15 506 B0 5251 9 HOLO T8 D TP 8 aresS’ 40
553008 SO TV, 12 5900 3000 528 9 Ho&re)
15800 Q) TP 60 257530262 SO TG HT) D20 HOP,

Options :
1.9 1
2. % 2
3. % 3

4. % 4
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Persons P and Q together can do a piece of work in 18 days. Q and R together
can do that work m 24 days, P and R together can do that work m 36 days. The
time taken (in days) by P alone to do that work 1s

P 001 Q &% $55en O 2.8 HA 18 FaresS syrdTohieOk.
©F HAY Q. R & O 24 FrSr, P HOM R 00 IO 36
BrSEr JrOTontom. P 250 & S roTohnedy D6y
Barex

1) 351

2) 4

3) 45

Options :
1. % 1

2.¥ 2

4. % 4
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i 22 . . : - 1
Taking m = £ the perimeter of the sector of a circle of area SBEr:mz. that

makes an angle 60° at the centre. in cms. is

38- .00, 3T QD dydo gy Boido HY 60°
) 0608 DTH ThE) tHEY T (0.00.0) (@) G 1 =

22

=
m 16
(2) 24
(3) 32
3
@) 99
3
Options :
1. % 1
2. % 2
3.3
4. % 4
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A rectangle whose length 1s 5 times its breadth and a square have same
perimeter. Then the ratio of their areas. in that order, is

308 5 BED &) 8 A wIehd D) theY Teresdd
RaT3s006 tHEY FOebed S IeEN0 &) D80,
AN & A 3AGN0 HO0H) VNG FTERO A)e

(I} 59
2) 4:9
(3) 9:5
4) 9:4
Options :
1.9 1
2. % 2
3.% 3
4. % 4
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If the volume of a cuboid whose length. breadth. height are in the ratio
4:3:21is 648 cm’, then the total surface area of that cuboid.( in cm?), is

SPC35) BEEN), IAOD 4:3:2 ANBS 8 BY 0 TN
0 NDOSTEIO 648 0. 0.aD. @ONAYID, & A D0 T
N0 SO FF50 (19.0.0.06)

1) 117

(2) 234

3) 351

(4) 468

Options :
1. % 1
2. % 2

3.# 3

4.9 4
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If the volume of a sphere and a cube are equal. then the ratio of their
respective surface area 1s

2,8 150 oDOOD 2,8 D0 TIVE) 0 DOSPETEN NSFPIRD,
SR T3 GNOBO FFEPLO e

M 11:1

@) V11:y21

3) Vir:V21

4 3:7

Options :
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A road roller 1s in the shape of a cylinder (horizontal) of radius 25 cm and height
- 204 . . 2 . 22
75 cm. Then the area covered by it in 112 revolutions. in m’, is (take m = 7)

2,8 0 008, 25 0.0, G0 SHO0K 75 0.0, D)) S
28 808 OSTosE N0 ErN0S GO, 112 |FEreD
DN & ATH0 T 83980008 FT°050 (2O (1 =)

T

198

Options :
1. % 1
2.¥ 2

3.# 3
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The total surface area of a solid hemisphere of radius 12 cm (in sq.cm.) 18

12 0.0, PTR) EOS 28 30 @ %o Thg) H0sd e
IFO50 (5. VO.N.OS)

(1) 144nm

2) 288m

(3) 432nm

(4) b576m

Options :

Question Number : 108 Question Id : 7856743025 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mranQged



If the base radius and the height of a cylinder are increased by 20% each. then
the percentage increase in its volume 1s

2,8 A0 OBNE), Zrarsr00 sDOCH A 20% DODNYED.
TR & HOSFR0S DN Fh0

(1) 4875
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The remainder when 27 is divided by 13 is

271 ) 13 3 2PRODINCH ©0T 300

B 7
2) 8
3) 9
4 10

Options :

1.41

Question Number : 110 Question Id : 7856743027 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
e008feded PN 56b

The digit in the units place of the number 13%3? is

HOWE 13131 & 2,58 T°H0S'Q 0T

(1) 1
(2) 3
(3) 5

@) 7
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If A 15 the set of all natural numbers from 1 to 100 both inclusive and B is the
set of composite numbers in A, then the number of elementsm A — B 1s

1008 100 5650 40 D72 H0ION) 063 Haded A HOOM A S
HO0IE HOPOR)E G B ©0NS, 4 — B S SFOFO 0

(1) 23
2) 24
(3) 25
4) 26
Options :

1. % 1



4.¥ 4
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If A has 8 elements. then the number of subsets of A. which have at least two
elements 1s

NS AS' 8 POTNE)H))E, EDN0 2 HPOTOS EON &) A
O35 €52 DalE® A0S

(1) 254
(2) 247
3) 124
(4) 510

Options :

1.8 1

2.9 2

3.% 3

4. % 4
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(2 —yz)g +(y2—?;2)3 +(22 —xz)g
(2=yPH{y—2z)* Hz—x)°

(1) x+y+z

(2) x*+y*+7z°

(3) x*+y3+2z°

@ G+ +2)(z+x)

Options :
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If ax* + bx® + 2x% + 4 is exactly divisible by x? —x — 2, thena: b =

x2—x—20  ax*+bx3+2x% + 4 QN0 2rN0NAD, a: b =

(B 57

2) -5:7
@) 718
(4) 51 =7

Options :
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If a polynomial 1n x leaves a remainder -2 and 19 respectively when divided by
x + 3 and x — 4, then the remainder left when 1t 1s divided by
x2—x—121s

28 50O x + 3 DO x — 4 OV AT 5t kN
ST -2 HO0KN 19 OB, AN x2 — x — 12 T PO &)
300

(1) 3x+7

@ -7

(3) 2x+5

4 2x-1

Options :
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3. % 3

4. % 4
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A polynomial p(x) leaves remainders 7. 1 when divided by x +4,x — 2
respectively. If f(x) is the remainder when p(x) is divided by x* + 2x — 8.
then the remainder when f(x) 1s divided by x + 6 13

X+4, x—200 FNODIYE p(x) © ATVHE SO 7, 1 0
FareN P HN0A. p(x) & x? + 2x — 8 Db PN f(x) 3O
0NN, f(x) D x4 6B FAOVIYE OO 300

Options :
1.9 1
2. % 2
3. % 3

4. % 4
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r 15 a fraction such that 1f 2 1s added to 1ts denomuinator, 1ts value 1s = If51s
1+r

i i o -
subtracted from its numerator. its value 1s = Then

1-r

r 28 90)0. T T8 280D, T Jendh >, T ©H0 HO&
5 SRIODT TR DOV 7. @Y, T =

1-r -

n B
24
(2) 18
25
3) 37
i
@ 2
11
Options :
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If > 4+ =1and 22 +-2 =5, then Xy =

xty  x—y xt+y  x—y
° +1=15000 2+ =5 eond, xy=
x+ty  x—y xty x—y
(1) 24
(2) 30
(3) 32
4 35
Options :
1. %1
2. % 2
3.% 3
4. 4
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*+2=194 = x34+_=
X X

(1) 62
2} 72
(3) 32
4) 42
Options :
1. % 1
2. % 2
3.3
4. % 4
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If the sum of first 27 terms of an A.P. is 189. then the 14® term of that A.P. is

2,8 0% 136 S F0E3 27 H0 IS0 189 00d, &8 36 S 148
Q0

1 s
@ 7

3) 9
4) 11

Options :

Question Number : 121 Question Id : 7856743038 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
D803, 25 eI0D areY seb



If the 4™ and 7™ terms of a Geometric Progression are respectively the 3% and
47™ terms of the Arithmetic Progression whose first term is 12 common
difference 1s 6. then the first term of the Geometric Progression is

2,8 1hea (3 T08), 4 SO 76 HTTEN SN 126 IS
HBOT SO0 HTFOBE0 6 T (1) @0% 3G T 5 OO 47 &
) ©ONSB, & e (3 AT} CE A0

(1)
(2)

o | WD o

3) 12
@ 15

Options :
1. % 1

2.9¥2

4, w4
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4 sec45°. cosec 60°.sin? 30°. cot 30° B
sec 609 . cos? 459 tanZ 60Y B

{iy ==
(2)

€)

(4) 2E
3

Options :
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2 200 2 2 3
sec” 30 +tan” 60 P ; . . petq
, == and G.C.D.of p,q 1s 1. then =
cos245%4sin?290? ¢ pi-q°
sec” 30%+tan” 60° p o pz+qz
, == D00 p,q® H.ar.27.1 90NN, =
cosZ4504sin2900 g pi—q2

() 173
165
(2) 657
495
(3) 757
595
(4) 685
667
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1. % 1
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3.3
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7sinf@ + 24cosf =25 = 7 cosec @ — 24tanf =

(1) 18

Options :

1.41
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k%+1
Ifsecf +tan @ = k, then T
i b k241
secH +tand =k @00, =

(1) cos@
(2) cosec8
(3) tané
(4) secH
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B is the foot of a pole AB. Two pomts C. D on the ground are such that C. D,
B are collinear and the distance between C and D is 20m. If the angles of
elevation to the top of the pole from C and D are respectively 30° and 45°, then
height of the pole AB ( in meters) is

AB @ 2,8 00 B, R0 D0 Hothayen €, D en. C.D,B
o) HBDAFOTDED STYoW. €, D © Dd: Gr3020 . €, DO
DO D0FTAS &3¢ ¢ Eeren HHIMT 307 HOON 450 eond,
00250 AB TB0E) D (0.06)

1) 2002+1)

2 10(V3-1)

3) 10(V3+1)

(4) 30

Options :

1.8 1
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D 1s the mid point of the side BC of A ABC. If AB=5cm, AC=11 cm,
BC = 6 cm, then the length of AD (in cm) 15

A ABC ' 25230 BC 0308), 05 Do) D. AB=5 0.a)..
AC =11 D0.00., BC=60.Q). @00, AD T0E) Psa)

(R0.90.06)
(1) 6
7
(3) 8
@4 9
Options:
1. % 1
2. % 2
3.3

4, % 4
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In AABC.if AB*+ BC?+ CA* = AB.BC + BC.CA + CA. AB, then that
triangle i

A ABC ("5'5. AB? + BC*+ CA? = AB.BC + BC.CA + CA.AB 900, €3
[B2H20

(1) A scalene triangle

28 e 2PV (320230
(2)  Anisosceles triangle

28 DG 5270 (32020
(3) A nght angled triangle

2.8 0028t (832020
(4)  Anequilateral triangle

28 QDaDaFaT (320230
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If the perimeter and diagonal of a rectangle are 34 cm and 13 cm respectively.
then the area of that rectangle ( 1n sq. cm) 1s

28 BY BeMB(H0 T0EY HOO DO EG0 €0 SO 34 R0.0D.
OO 13 V0., 0Nd, & OF SN0 T8y FFTO50

(15.?00.3).)@@36
(1) 24
2) 60
3y 30
4) 34
Options :
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If the ratio between the exterior and the interior angles of a regular polygon is
2 : 3, then the number of sides of that polygon 13

28 155 202h® TBE), 2rers Ferd§ @088 S8 o AR
2:3 90N, & DTVZNER TNE), 2D DO

IR
2 6
(3) 8
) 10

Options :
1.41
2. % 2
3.% 3
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The number of common tangents that can be drawn to circles when
(a) they intersect each other
(b) they do not intersect each other and. then
(c) they touch each other externally are respectively

(a) DOCD 9N POBOTNZNR) 0)) (D

(b) DO 39BN POROTNE WY I O

(€) DO 998N ) F0TD 309 09 )C

NODITD &3 D)6 DHO HOPFEN HBST

(y 231
@y 221
() 2,43
1,32

Options:
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2.8 2
3.¥ 3

4. % 4
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A ABCis right angled. A circle with AB as diameter 15 drawn to intersect the

hypotenuse AC in P. If the tangent at P to the circle meets BC in Q.
then BQ : BC =

A ABC 2,8 ©025 (32020, AB 3500 MR a39¢80 §80 AC Q P
3G POBNNO. P S5O )T o 9)8) T BC J Q
OG0T, @) BQ:BC=

P ¥
L)
R
| o ]
L)

Options :
1. % 1
2. % 2

3. 3

4.¥ 4
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If the distance between the points A(x, 3) and B(7,9) is 10 units, then the sum
of the squares of the possible values of x 1s

A(x,3) 0050 B(7,9) @8 2060 s0eds ArE0 10 ORTAE e
0N, x 50 DOTNS NSO ST Fedo

(1) 65
@ 7

(3) 130
(4) 226

Options :
1. % 1
2. % 2

3.# 3

4. 4
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
52805, 2B aDH ardPsed



If the points A(2,1), B(5,x) and C(—4,5) are collinear, then the ratio in
which C divides 4B 1s

A(2,1),B(5,x) 00 C(=4,5) DoDeyen HBParen
0NN, 4B & C FBOT A)S

(1) 1:3 internally 1:365 e90ehS0rT
(2)  1:3 externally 1:32rrs0m
(3)  2:3 internally 2:3 @000
(4)  2:3 externally 2:3 2P0
Options :
1. % 1
2. % 2
3.% 3
4, 4

Question Number : 135 Question Id : 7856743052 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
D303, 25 NeI0D areN seb



The slope of the line passing through the point which divides the line segment
joining the points (3, —8)and (-5, 8) in the ratio 3 : 1 intemnally and the point
that divides the line segment joining the points (-2, 7)and (6,—1) in the ratio
| : 3 externally 1

(3,-8) DO (-5,8) Doy O Tgr o) 3 : 1
DS oSG0  DFBO  DODID OO
(=2,7) HO0H (6,-1) &% DOAHOMD 1: 3 ANSS arsF50m
220D DN §0 TP aren

(1)

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 136 Question Id : 7856743053 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
DB0%, 2PN AN Psed



If 6 1s the acute angle between the lines 2x + 3y = 0 and x = 2y.
then tan 6 =

20+3y=0 OGN x=2y o3 OPO HI; O 50 4
GO, tan § =

B e o |

——
iy
p—_
[ -]

Options :

Question Number : 137 Question Id : 7856743054 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
DB0%, 2PN AN Psed



If the line y = 7x 1s rotated about origin in anti clock wise direction through
an angle of 45°, then the equation of the line in final position is

y = Tx &% DD S0 Do) L 9905 O3S 45° §90
MO (255080 TOO0N BRSYE, ©OSTI0 S &8 HEFTYP
DaEGe0

(1) 3x—4y=0
2) 2y-5x=0
(3) 4x+3y=0
4) 5Sy+2x=0

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 138 Question Id : 7856743055 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
52805, 2B aDH ardPsed



The equation of the straight line passing through the intersection of the lines
2x—-5y+1=0,3x+2y—-8=0 and making equal intercepts on the
coordinate axes 1s

0TS AT @068 POTOD D, 2x -5y +1 =0,

3x + 2y — 8 = 00 OB Do) Hom D O Dgr
DDEGE0

(1) y=2x-3

2) y=x-]

(3) y=-x+3

@ 2 1
F=gt ™3

Options :

1.8 1

Question Number : 139 Question Id : 7856743056 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
D808, 2PLNSOD arsdPsed



The equation of the line passing through the point (2. 7) and parallel to the line
3x+8y—-7=01s

2.7) Do) MO &P, 3x + 8y — 7 = 0 50 ASTFOSBOM &0OT
6% DY dandBea0

(1) 3x+8y—-13=0

(2) 3x+8y-62=0

(3) 3x+8y—-26=0

4) 3x+8y-9=0

Options :

Question Number : 140 Question Id : 7856743057 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I1. Algebraic and Geometrical Ability
D803, 25 eI0D areY seb



The equation of the line passing through the points (5, 3) and (2. 1)
(5.3), (2, 1) © 0T £ HE% T Da0EB0

() 7x+3y+3=0
2) 6x—8y+2=0
B) 2x-3y-1=0
4 3x+2y+5=0

Options :

Sub-Section Number : 3
Sub-Section Id : 785674335
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 141 Question Id : 7856743058 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

III. Statistical Ability
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The mean of the following data is

1806 @I 520G AT0F0 TNE) @050 500

=1 |3 |5 |7 19
f112]2°[3*| 4 10°
(1) 55
gy 10d
7
(3) 110
7
(4) 100
Options :
1. % 1
2.9 2
3. % 3
4. % 4

Question Number : 142 Question Id : 7856743059 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ITI. Statistical Ability
PO BT Q) Qs eb



The arithmetic mean of the measures of the angle of pentagon is

N0 2028 'R FEred 080500

(y o0
2)  90°
3) 108°
4) 1440

Options :

4. % 4

Question Number : 143 Question Id : 7856743060 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ITI. Statistical Ability
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If the means of marks obtained in Mathematics of 3 sections contaming 120.
100, 80 students are x, 2x, 3x respectively and if the mean of the 3 sections
combined 1s 112, then x =

120, 100,80 s00O DT DO O 3 VPSR Der ;N
KE3B0ES PO PG 0% SC3 70N x, 2%, 3x € ST
G07) ON. € PR DZTTTO €503 @08 oD 5eD0112
O, x =

30
40
50
60

—
[ ]

—
Ll
' e S

Options :
1. % 1
2. % 2

3.# 3

4.¥ 4

Question Number : 144 Question Id : 7856743061 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

ITI. Statistical Ability
PO §ET° R PN QS ed



A data consists of the first 20 odd integers with frequencies 12,22, ...,20°
respectively, then the median of the data s

2.8 (05065 INCES 20 B DOP5EN 12,22, ..., 202 DY N0S
&) QoN®, &8 T 0H3) NS0

Options:
1. % 1

2.¥ 2

Question Number : 145 Question Id : 7856743062 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I1I. Statistical Ability
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The following observations are m descending order.
94.84.74.x + 2, x, 68, 64, 58.
If the median of this data is 72, then the value of x =

806 H0FOIEN 95T §H0S” ameyaw.
94,84, 74, x + 2,x, 68, 64, 58
&3 (5040 GINEY sNESHHO 72 0N, ¥ TINTY DN

(1) 68
2) 69
3) 7l
@ 7

Options :

Question Number : 146 Question Id : 7856743063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

III. Statistical Ability
PO FETT R PN Q b



The mode for the following frequency distribution is

83800 TSz YRS DAFRaY 2TFTVFE0

Class
edfed
Frequency
2000 SO

52-55 | 55-58 | 58-61 | 61-04

15 20 23 10

(1) 5675
) 6225
(3) 58.75
(4) 6825

Options :

Question Number : 147 Question Id : 7856743064 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

III. Statistical Ability
PO FET7 R PN QS ed



If the Mean and Median of a frequency distribution are 20 and 15 respectively.
then the Mode 1s

2,8 T2 005 TR ey aDGI§eD0 aDOOIN D50 €0 SO 20
D00 15 ©ONS, 2PTVFE0

1) 30
2 25
(3) 5
4) 4
Options:
1. % 1
2. % 2
3.3
4, % 4

Question Number : 148 Question Id : 7856743065 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I1I. Statistical Ability
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If three coins are tossed. then the probability of getting at least one head is

ST TBOD DGR, SN0 2,8 7557 89t 16350 902Ped sed

(4)

—
b2
e

Options :

Question Number : 149 Question Id : 7856743066 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

ITI. Statistical Ability
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If the letters of the word TSICET are arranged at random, then the probability
that the T's do not come together 1s

TSICET & D06 @8 0O diré,g,. 501 @0 18358 D0
T &0 86Q) G0 IS (10 d0grdsed

4)

Question Number : 150 Question Id : 7856743067 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

III. Statistical Ability
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When a fair coin 1s tossed 5 times, the probability that head appears at least
fwo times 13

2,8 DaP 8 TETD) 5D HEBDID, ED50 Dok A
APVRIRAPWARS T FAREE!

. 13
) =
16
2) —
16
3
3 —
16
17
(1
32
Options :
1.9 1
2. % 2
3.% 3
4. % 4
Communication Ability
SectionId: 78567445
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 38
Number of Questions to be attempted : 38
Section Marks : 50

Enable Mark as Answered Mark for Review and Yes



Clear Response:

Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 785674336
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 151 Question Id : 7856743068 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

Existing everywhere

(1) ommpresent
(2) ommvorous
(3) ommscient

(4) ommbus

Options:
1.1
2. % 2
3.% 3

4, % 4

Question Number : 152 Question Id : 7856743069 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Part 1: Meanings (sentences with dashes)

Something that has not been included

(1)  commission
(2)  pernussion
(3)  omission

(4)  renussion

Options:

Question Number : 153 Question Id : 7856743070 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)
Relating to an authority.

(1) officious
(2)  official
(3) unofficial
(4) private
Options :

1. 8 1

2.9 2



4. % 4

Question Number : 154 Question Id : 7856743071 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

Big and strong or heavy
(1) hefty
(2) lean
(3)  emaciated

(4) tall

Options:

Question Number : 155 Question Id : 7856743072 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)



Accepting different opintons or kinds of behaviour

(1)  conservative
(2)  revolutionary
(3)  opinionated

(4) liberal

Options :

4.¥ 4

Sub-Section Number : 2
Sub-Section Id : 785674337
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 156 Question Id : 7856743073 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

‘perspective’ means

(1) plucking
(2 viewpoint
(3) 1dealism

(4)  phenomenon

Options:



Question Number : 157 Question Id : 7856743074 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

‘Cosy’ means

(1) comfortable

(2 uncomfortable
(3) sorrowful
(4)  distracted

Options :
1.9 1
2. % 2
3. % 3

4, % 4

Question Number : 158 Question Id : 7856743075 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Part 2: Synonyms and Antonyms

Antonym of ‘grateful’

(1)  careful
(2)  careless
(3) thankless
(4)  thankful

Options:

Question Number : 159 Question Id : 7856743076 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

Give the antonym of ‘eager’.

(1)  indifferent
(2)  incoherent
(3) 1inconsistent

(4)  appropriate

Options :



4. % 4

Question Number : 160 Question Id : 7856743077 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

Antonym of ‘unique’

(1) great
(2)  accomplished

(3) common

(4)  pleasant
Options:
1. % 1
2. % 2
3.¥ 3
4, % 4
Sub-Section Number : 3
Sub-Section Id : 785674338
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 161 Question Id : 7856743078 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

Ramya ll for three weeks. She 1s still in hosptal.

(1) had been
(2)  hasbeen
(3 =

(4) was

Options :
1. % 1

2.9 2

Question Number : 162 Question Id : 7856743079 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

Rarely 50 heavily in the month of March.

(1)  did 1t raned
(2)  has it ram
(3)  had it ramng

(4) does it rain

Options :



Question Number : 163 Question Id : 7856743080 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

Had they earlier they would have come prepared for the test.

(1) bemg told
(2)  been told
(3) told

(4) tell

Options :
1. % 1
2.9 2
3.% 3

4, % 4

Question Number : 164 Question Id : 7856743081 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Part 3: Verb (Tense & Voice)

The office lists of the eligible candidates and then send them letters for the terviews.

(1)  wall prepared
(2)  has prepare
(3)  wall prepare
(4) 15 prepared

Options:

Question Number : 165 Question Id : 7856743082 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

As you can see, the guest rooms cleaned and kept ready for the visifors.

(1) arebeen
(2)  has been
(3)  have bemng
(4)  have been

Options :

1. 8 1



2. % 2

3.% 3

4. ¥ 4

Sub-Section Number : 4
Sub-Section Id : 785674339
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 166 Question Id : 7856743083 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

He failed to understand how the leader  the crime.

(1)  got over with
(2)  gotup with
(3) got under

(4)  got away with

Options :

Question Number : 167 Question Id : 7856743084 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

With practice, typing becomes

(1)  first nature
(2)  second nature
(3)  second thought

(4) second mn nature

Options :

Question Number : 168 Question Id : 7856743085 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

Laxmu 1s to opt for the job.

(1)  on pressure
(2)  in pressure
(3)  under pressure

(4)  over pressure

Options :



Question Number : 169 Question Id : 7856743086 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

The car stopped as it fuel.

(1) ranout of
(2) ranouton
(3) ranof

(4) ranoff

Options :
1.1
2. % 2
3.% 3

4. % 4

Question Number : 170 Question Id : 7856743087 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Part 4: Phrasal Verbs & Idioms

He had butterflies in hus stomach before he began lus performance on the stage. The underlined

idiom means:

1)  Hewas confident.
2)  He was trritant.
3) He was hungry.

4)  He was nervous.

Options :
1. % 1
2. % 2

3. % 3

4. ¥ 4

Sub-Section Number : 5
Sub-Section Id : 785674340
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 171 Question Id : 7856743088 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions



The more he talks, less they understand.

(1) a
(2) an
(3) the
(4) in

Options :

Question Number : 172 Question Id : 7856743089 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

‘The Princes’ 15 historical novel.
(1) an
(2) the
(3) a
(4) of
Options:
1. % 1
2. % 2
3.4 3



Question Number : 173 Question Id : 7856743090 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

He has taken a fancy growing vegetables.
(1) on
(2 upon
(3) to
(4) of
Options :
1. % 1
2. % 2
3.¥3
4, % 4

Question Number : 174 Question Id : 7856743091 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions



You are not cut for this job.

(1) out
(2) off
(3) 1n

4 up

Question Number : 175 Question Id : 7856743092 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

There has been shight nusunderstanding, but we cleared it NOW.
(1) of
(2) up
(3) on
(4) upon
Options :
1.8 1
2. 2
3.% 3



Sub-Section Number : 6

Sub-Section Id : 785674341
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 176 Question Id : 7856743093 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology
A small symbol or picture that represents a program or other things.

(1) 1icomn
(2) GIF
(3) logo
(4) 1image
Options:
1.9 1
2. % 2

3. % 3

4, % 4

Question Number : 177 Question Id : 7856743094 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology



What 1s the full form of e-mail?

(1)  Electric mail
(2)  Exchange mail
(3)  Electronic mail

(4) Engaging mail.

Options :

Question Number : 178 Question Id : 7856743095 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology
Which one of the following 15 not an operating system (OS)?

(1)  Wimndows 10
(2) Lmux

(3) POS

(4)  Ms Excel

Options:



Question Number : 179 Question Id : 7856743096 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

A byte 15 equal to

(1) 8bits

(2) 16 bits
(3)  32bits
(4) 64 bits

Options :

Question Number : 180 Question Id : 7856743097 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology



RAM 15 a memory of this type:

(1) Volatile

(2) Non-volatile
(3) Short

(4) Long

Options :

Sub-Section Number : 7
Sub-Section Id : 785674342
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 181 Question Id : 7856743098 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

Which of the following 1s not an element of delegation?

(1) informal orgamsation.
(2)  responsibility.

(3)  authomty.

(4)  accountability.

Options:



1.9 1

Question Number : 182 Question Id : 7856743099 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

Which of the following 1s correct?

(1)  Sales management subsumes marketing management
(2)  Marketing management subsumes sales management

(3)  Both are independent

(4)  Marketing management has nothing to do with sales management

Options :

Question Number : 183 Question Id : 7856743100 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Part 7: Business Terminology

Who 1s the originator of POSDCORB?

(1) Henn Fayal
(2)  Luther Gullick
(3) Koontz and O donnell

(4) Newman and summer

Options :

Question Number : 184 Question Id : 7856743101 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

All else bemng equal an organisation can increase supply by

(1)  rise in income of the consumer.

(2)  1increase in the mcome of the producer.
(3)  rise n the price of the product.

(4) improvement m techniques of production.

Options :



Question Number : 185 Question Id : 7856743102 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

Who 15 known as the father of scientific management?

(1) Max weber
(2) Henry Fayol
(3) F.W.Taylor
(4) S. George

Options :

1. % 1

Sub-Section Number : 8
Sub-Section Id : 785674343
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743103 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (186 to 190)



Part 8: Comprehension

It 15 said that the strongest cham 1s no stronger than its weakest link. In the Southern
part of our country there are twenty-two mullions of your brethren who are bound fo you by ties
which you cannot tear asunder if you would. The most intelligent man 1n your commumty has
his intelligence darkened by the 1gnorance of a fellow citizen in the Mississippi bottoms. The
wealthiest m your city would be wealthier but for the poverty of a fellow being n the Carolina
rice swamps. The most moral and religious among you has lus religion and morality modified
by the degradation of the man m the South whose religion 1s a mere matter of form or
emotionalism.

The vote m your state that 15 cast for the ighest and purest form of government 1s
largely neutralized by the vote of the man in Lowsiana whose ballot 1s stolen or cast mn
ignorance. When the South 1s poor, you are poor; when the South comnuts erime, you commut
crime. My friends, there 15 no nustake; you must help us to raise the character of our civilization
or yours will be lowered.

Sub questions

Question Number : 186 Question Id : 7856743104 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

What does the statement “The strongest cham 15 no stronger than 1ts weakest link’ mean 1n the

context of the passage?

(1)  The need for coordmation among the races.
(2)  The need for manufacturing stronger chains.
(3)  The need to remove weak links mn the cham.
(4)  The need to divide the nation.

Options:
1.9 1

2. % 2



4. % 4

Question Number : 187 Question Id : 7856743105 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

How many people were there i the South part of USA as mentioned m the passage?

(1)  Twenty-two lakhs
(2)  Twenty-two thousand
(3)  Two crore twenty lakhs

(4)  Twenty-two crores
Options:

1. 8 1

Question Number : 188 Question Id : 7856743106 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension



The expression “When the South 15 poor, you are poor” suggests

(1)  Both the Northern and Southern parts of the country are poor.
(2)  Without balanced development, the country cannot progress.
(3)  Northern part 1s poorer than the South.

(4)  There 1s uniform development m the country.

Options:
1. % 1
2.¥2
3. % 3

4, % 4

Question Number : 189 Question Id : 7856743107 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The phrase “the highest and purest form of government’ indicates

(1) Bureaucracy
(2)  Daictatorship
(3) Democracy

(4)  Religious state
Options :

1. % 1
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Question Number : 190 Question Id : 7856743108 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

Accordimng to the author, the Blacks in the South are

(1)  1gnorant
(2)  well-educated
(3)  honest

(4) mtelligent

Options :
1.1
2. % 2
3.% 3
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Part 8: Comprehension

Today the world 15 home to a transformative generation of 900 mullion adolescent girls
and women poised to shape the future of work and growth. If this cohort of young women
could be equipped with the right resources and opporfunities to nurture the 21% century skills,
they would become the largest segment of women leaders, change makers, enfrepreneurs, and
inovators in history. India, home to one of the largest generations of girls and young women,
has undertaken wide-ranging initiatives across the crifical domains of education, health, digital
and financial nclusion to help m the achievement of Sustamnable Development Goal 5, which
envisions the world to be a more gender equal place by 2030. To unleash the gender dividend
and create conditions for female leadership to flourish women at all levels of society must have
mclusion 1 the Information and Commumication Technology (ICT), bodily autonomy and
safety, shared responsibility within the household and equal participation m decision-making
spaces. The World Bank notes that over 43% of Indian STEM (Science, Technology,
Engimeering and Mathematics) graduates are women. However, not all of them are represented
1 the work force and tech leadershup. STEM education appears to have picked up pace but
there are prevailing stereotypes that characterise 1t as a traditionally masculme domain.

Sub questions

Question Number : 191 Question Id : 7856743110 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The passage 1s about:

(1) 217 century skills.
(2) STEM
(3) women’s failure to keep pace with men.

(4)  female leadersiup.

Options:

1.8 1



Question Number : 192 Question Id : 7856743111 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

For shapmg future growth, what do men need?

(1) Resources and opportunities.
(2 Domestic responsibilities.
(3) Restrictions to work.

(4)  Parental guidance.

Options :

Question Number : 193 Question Id : 7856743112 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension



Sustamable Development Goal 5 envisions the world to be a

(1)  Peaceful federation.
(2)  Gender equal place.
(3) Female dominated world.

(4) Male-dominated society.

Options :

Question Number : 194 Question Id : 7856743113 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

Critical domains include

(1)  Education and financial inclusion.
(2)  Freedom and healthy practices.
(3)  Liberty in decision-making.

(4)  Becomung champions of change.

Options :
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Question Number : 195 Question Id : 7856743114 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

For female leadership to floursish, women need to have inclusion in

(1)  Sustainable development.
(2 STEM.

(3) Masculine domain.
() ICTE

Options :

1. % 1

2. % 2

3. % 3
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Question Numbers : (196 to 200)

Part 8: Comprehension

Interpersonal communication refers to the sharing of mformation among people. To
compare 1t with other forms of commumnication, such as intrapersonal, organizational, etc., we
need to examine how many people are mvolved, how close they are to one another physically,
how many sensory channels are used, and the feedback provided. Inferpersonal communication
differs from other forms of communication in that there are few participants mvolved, they
close physical proximity to each other, many sensory channels are used, and feedback 15
immediate.  Also, the roles of the sender and recerver keep altemating. This form of
communication 1s advanfageous because direct and immediate feedback 15 possible. If a doubt
occurs, 1t can be instantly clarified. Note that non-verbal communication plays a major role
the mterpretation of a message 1n this form of communication due to proxumty of the people
mvolved. Interpersonal communication can be formal and informal For example, your
interaction with a sales clerk m a store 15 different from that with your friends and fanuly
members; the interaction befween the panel members and the candidate appearmng at an
mnterview 15 different from the conversation between two candidates waiting outside. Hence,
depending on the formality of the situation, interpersonal communication takes on different
styles.

Sub questions

Question Number : 196 Question Id : 7856743116 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

Inter personal communication 1s communication between

(1) one to many.
(2)  one to none.
(3) onetoafew.

(4)  one to oneself.

Options :



Question Number : 197 Question Id : 7856743117 Question Type : MCQ Option Shuffling : No
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Part 8: Comprehension

Intrapersonal communication takes place

(1)  between one and many.
(Z within oneself
(3)  between human beings and non-human enfities.

(4)  between a person and an orgamzation.

Options :

4. % 4

Question Number : 198 Question Id : 7856743118 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Part 8: Comprehension

Non-verbal communication mvolves

(1)  signs and gestures.
(2)  close conversation
(3)  distant communication.

(4)  absence of communication.

Options :

Question Number : 199 Question Id : 7856743119 Question Type : MCQ Option Shuffling : No
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Part 8: Comprehension

Doubts can be clarified mstantly in

(1)  intrapersonal communication.
(2 extrapersonal communication.
(3) interpersonal communication.

(4) non-verbal communication.

Options :

1. % 1
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Part 8: Comprehension

Which of the following involves formal communication?

(1) Conversation with your uncle.
(2 Interaction with your friend.
(3) Interaction with your Bank Manager.

(4) Interaction with your fiancée

Options :



